

Caps and Closures
EU Portfolio

# **Braskem**

## Caps and Closures

## **The Segment**

The packaging market increasingly demands more properties from its caps and closures than just esthetic appeal, convenience or diversification of its brand. It also demands other important properties that guarantee the integrity of the packaged product and help in the speeds adopted in the application lines.

Production of caps and closures that help reduce environmental impact is also essential for this segment.

Through its technical and commercial staff working jointly with professionals from its Technology and Innovation Center, Braskem offers customers grade-based solutions to meet their needs, either through a top quality product portfolio or through innovative solutions presented by its team.

### **Characteristics**

- Grade approved for contact with food products  $\,$
- Random copolymers with exceptional transparency and gloss
- Wide range of melt flow as well as efficient additive packages
- Grades with excellent organoleptic properties
- Sustainable bio-based PE availible
- Dedicated team to address all regulatory requests



Stiffness

**Optical Properties** 



		MFR 230°C, 2.16 kg	Flexural Modulus	Tensile yield strain	Tensile yield stress	Charpy notched impact strength @ 23°C	Charpy notched impact strength @ 0°C	Charpy notched impact strength @ -20°C	Special additives
Method		ISO 1133	ISO 178	ISO 527-2	ISO 527-2	ISO 179	ISO 179	ISO 179	
Unit	S	dg/min	MPa	%	MPa	kJ/m²	kJ/m²	kJ/m²	
Homo	Inspire 215	2.1	1700	10	36	5	-	-	NU, AS
	FT120WV	11	1650	8	36	4	-	-	NU, AS
	HSP250NA	25	1650	8	36	3	-	-	NU, AS
	F350HC2*	35	2100	6	41	2	-	-	NU
	DH789.01	50	1700	8	37	3	-	-	NU, AS
ICP	EP445L*	6	1450	7	32	7	2.5	2.0	NU, AS, SA
	EP440N*	12	1200	6	21	11	6.5	5.0	NU, AS
	C706-21NAHP	21	1450	8	27	8	5.0	4.5	NU, AS
	C7082-30NA	30	1300	5	25	9	6.0	5.0	NU, AS
	C705-44NAHP	44	1450	5	28	7	5.0	4.0	NU, AS
	C711-70RNA	70	1250	5	24	8	5.5	4.0	NU, AS
RCP	DR7051.01	10	1200	12	28	6	2.0	-	CA
	DR7037.01	23	1200	12	29	6	2.0	-	CA
	Inspire 364	42	1050	12	27	6	1.5	-	CA, AS
	Inspire 382	70	1050	13	27	5	1.5	-	CA, AS
		MFR 190°C, 2.16 kg	Density	Flexural	Tensile yield stress	ESCR 10% Igepal, 50°C	ESCR 100% Igepal, 50°C	Notched Izod impact strength @ 23°C	Special additives
Method		ISO 1133	ASTM D4883	ISO 178	ISO 527-2	ASTM D1693	ASTM D1693	ASTM D256	
Units		dg/min	g/cm³	MPa	MPa	h	h	J/m	
PE	GE7252*								
	GL7232	2	0.952	1100	26	15	-	-	-
PE	IA59*	7.3	0.952 0.960	1100 1250	26 28	15 –	-	- 75	-
HDPE						15 - -	- - 5	-	– – UV
HDPE	IA59*	7.3	0.960	1250	28	15 - - -	- - 5 <4	- 75	- - UV -
	IA59* HDI0861U1*	7.3 8.5	0.960 0.961	1250 1650	28 32	15 - - -		- 75 53	
	IA59* HDI0861U1* HDI2061*	7.3 8.5 20	0.960 0.961 0.961	1250 1650	28 32 29	15 - - - -		- 75 53	
LDPE HDPE	HDI0861U1* HDI2061* LDF2023*	7.3 8.5 20 2	0.960 0.961 0.961 0.923	1250 1650 1350	28 32 29 11	15 - - - - -		- 75 53	-
	IA59* HDI0861U1* HDI2061* LDF2023* LDF2023S1*	7.3 8.5 20 2 2	0.960 0.961 0.961 0.923	1250 1650 1350 —	28 32 29 11	15 - - - - -		- 75 53	– – SA, AB
LDPE	IA59* HDI0861U1* HDI2061* LDF2023* LDF2023S1*	7.3 8.5 20 2 2	0.960 0.961 0.961 0.923	1250 1650 1350 —	28 32 29 11	15 - - - - -		- 75 53	– – SA, AB
LDPE	IA59* HDI0861U1* HDI2061* LDF2023* LDF2023S1* LDI2220*	7.3 8.5 20 2 2 2	0.960 0.961 0.961 0.923 0.923	1250 1650 1350 — —	28 32 29 11 11 12	- - - -	<4 - - -	- 75 53 25 - -	– – SA, AB
	HDI0861U1* HDI2061* LDF2023* LDF2023S1* LDI2220*	7.3 8.5 20 2 2 2 20	0.960 0.961 0.961 0.923 0.923 0.920	1250 1650 1350 — — — — 1100	28 32 29 11 11 12	- - - -	<4 - - -	- 75 53 25 - - -	– – SA, AB
LDPE	IA59* HDI0861U1* HDI2061* LDF2023* LDF2023S1* LDI2220* SGE7252* SHC7260*	7.3 8.5 20 2 2 2 20	0.960 0.961 0.961 0.923 0.923 0.920	1250 1650 1350 - - - 1100 1375	28 32 29 11 11 12 26 29	- - - -	<4 - - -	- 75 53 25 - - - - 50 20	-

<sup>\*</sup> Imported from outside Europe

#### **Braskem Netherlands BV**

Weena 200, 9th floor Tower C 3012 NJ Rotterdam, The Netherlands

europe.polypropylene@braskem.com

#### Product Stewardship:

Braskem has a fundamental concern for all who make, distribute, and use its products, and for the environment in which we live. This concern is the basis for our Product Stewardship philosophy by which we assess the safety, health, and environmental information on our products and then take appropriate steps to protect employee and public health and our environment. The success of our Product Stewardship program rests with each and every individual involved with Braskem products from the initial concept and research, to manufacture, use, sale, disposal, and recycle of each product.

Braskem strongly encourages its customers to review both their manufacturing processes and their application of Braskem products from the standpoint of human health and environmental quality to ensure that Braskem products are not used in ways for which they are not intended or tested. Braskem personnel are available to answer your questions and to provide reasonable technical support. Braskem product literature, including safety data sheets, should be consulted prior to the use of Braskem products. Current safety data sheets are available from Braskem.

#### Disclaimer:

- Braskem Netherlands BV or any of its affiliates assumes no liability on the suitability of the product as described in this document for any intended use in any application unless separately agreed in a contract. All warranties or merchantability or fitness for a particular purpose are expressly excluded.
- Braskem Netherlands BV does not support the use of the product as described in this document in any medical application regardless of the Medical Device Classification (Directive 93/42/EEC). The use of this product into any medical applications regardless of classification or intended use, requires written approval from Braskem Netherlands BV.
- Braskem Netherlands BV assumes no obligation or liability for the information provided in this

- Braskem strongly recommends before use, to consult the Material Safety Data Sheet
- Braskem Strongy recommends before use, to consult the Material Safety Data Sneet

   Inspire® is a trademark of Braskem SA

   Braskem Netherlands BV registration details are: Braskem Netherlands BV, Weena 200, 9th floor

  Tower C, 3012 NJ Rotterdam, The Netherlands Managing Director: Piovesan Reche Scarton, Marlisa |

  Bernardo Dias de Figueiredo, Isabel | Levy Ibarra, Gonzalo Andres | Schuck, Hardi | van Veen,

  Alexander Paulus | Iyer, Srivatsan Srinivas Trade Register: Rotterdam 24401995
- If products are described as "experimental" or "developmental":
- Product specification may not be fully determined;
- 2. Analysis of hazards and caution in handling and use are required;
  3. There is a greater potential for Braskem to change specifications and/or discontinue production, and:
  4. Although Braskem may from time to time provide samples of such products, Braskem is not
- obliged to supply or otherwise commercialize such products for any use or application whatsoever.

